EXAM 2

   PROFESSOR LEFFLER


ECONOMICS 200
                                                             Spring 2004


Each question is worth a maximum of 24 points.  4 points for name (1)  and TAs name (1) and section letter (2 point).  Review at least 20 exams before settling on a grading technique.  If a student interprets the question in a way I did not anticipate and applies good economic reasoning, reward appropriately.  Each grader will submit a “grading explanation” for posting.  I want the exams returned at Thursday’s quiz.  kl
1.  Jane can “produce” 5 potatoes or 3 ounces of berries per hour.

a.  If Jane had access to a store where potatoes are bought and sold for $2 each and berries for $1 per ounce, would you expect her to specialize in production?
Yes.  The store costs Jane 2 ounce of berries per potato.  In production, Jane gives up only 3/5ths ounces of berries per potatoes.  Hence, she will find it preferable to specialize in berry production and trade for potatoes at the store.  

    Chris can find 4 potatoes or 4 ounces of berries per hour.

b.  If Chris and Jane meet and continue to meet, do you expect specialization and trade?
Jane will have a MV of potatoes equal to her opportunity in production of 3/5ths ounces of berries (or her opportunity at the store of 2 ounces of berries per potato.)  Chris will have a MV potato of 1 ounce of berries.  Hence trade expected at some price between these.  To Chris, the cost of trading for potatoes will be less than of producing potatoes.  He will specialize in berry production.  Jane will specialize in potato production. (Note that if a student assumes the trading opportunity at the store still exists the answer will change.)
c.  If Chris and Jane meet and continue to meet, what do you expect to happen to Chris’s consumption of potatoes compared to when he was alone?
Increase.  Since the cost of a potato to Chris will be less in trading with Jane than when he produced potatoes, he will be expected to increase his consumption of potatoes.
d.  Jane can decide whether Mary can participate in the economy with her and Chris.  Mary can produce 3 potatoes or 2 berries per hour.  Do you expect Jane to allow Mary’s participation? 
Uncertain.  Mary is a high cost producer of potatoes compared to Jane (it cost Mary 2/3rds ounces of berries to produce a potato; it costs Jane 3/5 ounces.)  Hence, compared to Jane,  Mary has a comparative advantage in berry production.  However, compared to Chris, Mary has a comparative advantage in potato production.  Hence, the impact of Mary will depend on the price of potatoes prior to her entry.  We know only that the price will be between 3/5ths and 1.  If the price is below 2/3rds, Mary will specialize in berry production, and the price of potatoes will increase (as Mary competes with Chris to trade with Jane).  In this case, Jane will benefit from Mary’s entrance and allow it.  However, the price of potatoes prior to Mary’s entrance may be above Mary’s cost of producing the potatoes.   If the price is above 2/3rds, then Mary would enter and be motivated to specialize in potato production to Jane’s detriment. 
2. True, false, uncertain.  Explain.

a. You receive secret information that the federal government will open up production of crude oil on the North Slope of Alaska.  You can likely make a profit by buying natural gas futures.
False.  Since the information is secret, the current market prices will not incorporate this information.  Therefore, you will expect the price of crude oil to fall.  Since natural gas is a substitute for crude oil derived products, you will also expect the future price of natural gas to fall.   If you buy gas futures, you are agreeing to pay today’s future price for later deliver of gas that you expect to be of lower value than what other “experts” (who do not have your knowledge) expect.  Hence, you will pay high for something of lower value.  You should sell natural gas futures. 
b.  If individuals could trade time, efficient production would be achieved by following the Law of Absolute Advantage.
True.  We would have those that gave up the least time produce and then we would trade back to them our time.  Hence efficient production would require specialization in that production activity in which you have a absolute advantage.  (Note that one person can have an absolute advantage in everything.)
c.  Korean auto makers have an advantage over U.S. auto makers since the Korean auto makers are not burdened with old obsolete plants.
No one is “burdened” with old technology, rather you may choose to use old technology it because it is less expensive than incurring the expense of acquiring the new technology.  Any entrepreneur in the U.S. is free to start an auto plant with the latest, greatest technology.  They don’t do it because the current producers, with their “obsolete” technology (which simply means that they would not choose to build a new plant with that technology) have relatively low costs since the opportunity costs of using the existing plants is low. 
d.  Politicians have advocated "energy independence" for the United States, that is, reliance on domestic energy supplies.  Importation of substantial oil imports indicates energy "dependence”.
False.  The United States is no more dependent on energy imports than we are dependent on toy imports.  We choose to import oil for energy because others have a comparative advantage in oil production while we have a comparative advantage in, for example, higher education.  We, of course, could be energy independent but this would lower our wealth.
3. True, false, uncertain.  Explain.

a.  The amount of known oil reserves are expected to increase if the interest rate falls.
True.  The lower is the interest rate, the higher is the present value of amounts to be received in the future.  Therefore, at lower interest rates, the incentive to pump now rather than save oil is decreased, increasing future reserves.  In addition, the incentive to invest current resources in hopes of future oil production increases which also increases future reserves.
b.  Specialization without trade would not be efficient.
True.  Specialization implies that a different set of goods is produced than the individual prefers to consume.  Hence absent trade, with specialization, an individual will be producing and consuming a set of goods that are less preferred than those available pre-specialization. 
c.  In recent years, an increasing percent of the work force is employed in the “services.”  Many service workers simply provide things that we used to provide for ourselves – cleaning the house, cooking, laundry services, etc.  Since such service workers do not, therefore, add to the amounts of goods available, they do not increase the wealth available in society.
Service workers increase wealth in a number of ways.  First of all, relying of others to perform the services allows greater specialization.  For example, by relying on individuals with comparative advantages in cleaning and cooking, other workers increase their specialization time, say, computer programming or teaching.  In addition, economic goods include many things other than physical goods.  Having Mary take a nap and pay a specialist to clean the house increases the amount of the good “naptime for Mary.”  If the value of Mary’s naptime exceeds the cost of the specialist cleaning time, society has increased its wealth. 
d.  John owns the land and store where he sells clothes.  Therefore has a comparative advantage over the competing clothes sellers who have to rent their space.
False.  The relevant economic costs are opportunity costs.  A cost of the land and the store to a clothing store operator who owns the land and the store is the amount of rent he could collect if he didn’t use the land himself.
4.  The state legislature has decided to finance prenatal health care through an increased tax on cigarettes.  Evaluate each of the following claims about the effect of the tax:

       a.  An increase in the tax per pack may not increase the amount of tax revenue collected.
True – the increase in tax will lead to a higher price of cigarettes which will reduce the quantity demanded.  If the percentage decrease in the tax exceeds the percentage increase in tax then the tax revenue will fall.  If the demand is inelastic, then the tax revenue must increase since in this case the percentage change in price exceeds the percentage reduction in quantity and the percentage increase in tax will exceed the percentage increase in price (since the tax base will be less than the price base).  
b.  Since the tax is levied on the sellers of cigarettes rather than the consumers, the tax is unlikely to affect smoking.
False.  The consumers react to changes in prices (including any tax paid.)  The effect on the total price paid by consumers will be the identical regardless of who sends in the tax.  (A diagram should be well rewarded since to explain in words is cumbersome.) 

c.  The amount of the tax collected will decline over time.
True.  The second law of demand implies that consumers will reduce their smoking more over time in response to the price increase that results from the tax.  This will lower tax revenues over time.  We also know that the suppliers will react more to the lower prices they will receive when they have more time to react (that is, the supply curve is more elastic in the longer run.)  This increased supply elasticity will also result in reduced quantity exchanged as time goes on.  

5.   True, false, uncertain.  Explain.

a.  The most efficient technology depends upon input prices, the output price and the length of time in which to choose the technology.
True.  The input prices determine the efficient mix of inputs for some given level of output.  The output price determines the desired level of output and the optimal output determines the desired technology (particularly the level of roundabout production (capital equipment).  The time in which to choose the technology determines, in part, the costs of different input mixes (e.g., changing the size of the factory tomorrow is very expensive.)
b.  As the interest rate increases, the value of becoming a doctor as compared to being an elementary school teacher will rise.
False.  Becoming a doctor (ten + years post high school education) involves giving up more current consumption than becoming an elementary teacher (5 years post high school education), in return for larger expected future income.  An increase in the interest rate lowers the relative value of the increased future income making the relative economic value of being a doctor lower. 
c.  Contrary to the claims of economists, specialization and complex production do not benefit consumers since numerous unproductive individuals such as monitors and middlemen become involved in production.
False -  it is true that if individuals did not take advantage of opportunities to shirk, the output from complex production could be higher because we would not need monitors.  But that is about as useful as noting that we would have more if things weren’t scarce.  If production could be higher using simple production than complex production (with its attendant need for monitoring) then people would certainly not work in complex organizations since they could do better on their own.  Middlemen are analogously useful.  Complex production occurs distant in time and location from us.  We are all free to become middlemen buying directly from producers.  We elect not to because entrepreneurs specializing in providing these services can do it cheaper.  The costs of finding, inspecting, learning of uses, returning if not satisfactory, etc., are as much costs of creating wealth as the costs of production.  Middlemen lower these costs, thereby increasing wealth.
d.  The major difference between a government deficit and a trade deficit is that the government deficit results from investment rather than consumption.
False.  The major difference is that a trade deficit necessarily involves a transfer of current consumption from the surplus country to the deficit country (with an attendant debt or reversal in the future).  A government deficit does not directly change the amount of a country’s resources that it currently consumes.  Both types of deficits may or may not involve investment activities (e.g., governmental financing road consumption with debt; a firm importing capital equipment via a debt.) 
6.  Explain each of the following:

a.  Supply is more elastic in the long run; 
“Supply” tells us the amount of production that will be made available for trade at alternative prices.  The elasticity of supply tells us how much the supply will respond to a price change (%ΔQs/%ΔP).  Given a longer time to respond to a higher (lower) price, producers will be able to alter their production technology to more (less) roundabout production techniques.  This will increase the quantity supplied.  Also, producers who currently are not in the industry will have time to enter (select and implement their desired technology.)
b.  futures market allow the hedging of risk; 
(An answer through a correct example is fine.)  Risk results from the uncertainty of alternative outcomes that have different values.  A hedge is the selection of an second risky alternative that as high values when the first has low and vice versa.  The combination of the two alternatives therefore reduces the risk (e.g., betting against your favorite sports team.)  If the risky outcome at issue arises from the uncertainty of future prices (the risk a wheat farmer is subjected to), making a sale or purchase in the future at a known price today can reduce the risk (a wheat farmer selling wheat futures for the date of his crop harvest will eliminate the price risk - if the price in the future is high (low), he will lose (win) on the futures contract but win (lose) on the crop sale.)   
c.  roundabout production leads to declining marginal costs; 
Yes - Roundabout production is the production or purchase of a capital good that is useful in making the additional cost of producing output low (buying a shovel to dig holes.)  If the amount of expected production is low, it the total savings from lowering the extra per unit cost will not be large and it will economical to spend only a small amount for capital equipment.  This will lead to low total cost but high marginal cost.  If however, expected output is high, then the total savings from lowering the per unit cost will be high justifying a larger spending on equipment that lowers the per unit cost.  Hence, as the expected output level rises, the expected spending on capital will increase and the additional cost per extra unit (marginal cost) will fall.   
d.  efficient markets imply it is difficult to lose money by randomly picking and holding stocks; 
Yes - Efficient markets imply that speculators will spend resources to acquire information about expected price changes and then act on that information as long as they expect to make a profit.  Hence, the most informed individuals in the economy will be buying and/or selling stocks if the price of the stock differs from what they believe to be the fair value.  Since they will sell stocks that they think are overvalued and will do down, the current price will already incorporate the experts beliefs as to movements down (or up).
e. the interest rate rises if expected inflation increases. 
The “pure” interest rate provides the equilibrium market measure of the percentage premium that present control of resources has as compared to the future control.  The observed or nominal interest rate refers to the control of $$ now versus later.  Since the value of $$ in terms of goods will fall if inflation is expected, the future $$ amount must also include compensation for this.  Hence the observed interest rate will include both the premium that the present has versus the future and the expected inflation.  
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